

$$A_i \qquad A_{i-1}, \qquad A_j \qquad S$$

$$A_{j+1} \cdot$$

$$\Delta S = -(i-1)a_{i-1} - ia_i - ja_j - (j+1)a_{j+1} + (i-1)(a_{i-1} + 1) + i(a_i - 1) + j(a_j - 1) + (j+1)(a_{j+1} + 1) = 0.$$

$$S \qquad A_1, \qquad A_i \ (i > 1), \qquad A_{i-1},$$

$$\Delta S = -na_n - a_1 - (i-1)a_{i-1} - ia_i + n(a_n - 1) + (a_1 + 1) + (i-1)(a_i + 1) + i(a_i - 1) = -n.$$

$$, \qquad A_1 \qquad A_n, \qquad A_i \ (i > 1) \qquad A_{i+1}$$

$$S,$$

$$\Delta S = -na_n - a_1 - (i-1)a_{i-1} - ia_i + n(a_n + 1) + (a_1 - 1) + i(a_i - 1) + (i+1)(a_i + 1) = n.$$

$$, \qquad A_1 \qquad A_n$$

$$S, \qquad A_n \qquad 1,$$

$$S,$$

$$n, \qquad S \qquad n \qquad -$$

$$S_P = 1 \cdot 1 + 2 \cdot 2 + \dots + n \cdot n = \frac{n(n+1)(2n+1)}{6}$$

$$S_K = 1 \cdot n + 2 \cdot (n-1) + \dots + n \cdot 1 = \frac{n(n+1)(n+2)}{6}.$$

$$S_K - S_P \qquad n.$$

$$S_K - S_P = -\frac{(n-1)n(n+1)}{6},$$

$$n, \qquad n \qquad 6.$$

$6k+1$ $6k+5$. n 6 , n
 $n = 2m+1$. $6k \pm 1$. n , m , n
 A_1 , $n-1$, $n-1$
 A_2 $n-3$, A_{n-1} ,
 $n-3$. A_{m+1}
 m $m+1$,).

(A_1, A_n) $n-1$ 1,
 (A_2, A_{n-1}) $n-3$
 3, .

$$X = 1 \cdot (n-1) + 3 \cdot (n-3) + \dots + (n-2) \cdot 2 = \frac{(n-1)n(n+1)}{6}.$$

X
 X
 X n , n
 6. $X = qn$. X
 q

2. $n \times m$ ($n, m \geq 2$)

$N \leq (M-1)^2$
 $M-1$
 $(M-1)^2$
 X_0
 $M-2$
 X_0
 X_1, X_2, \dots, X_{M-1}
 C
 Y
 C
 C
 Y
 X_1, X_2, \dots, X_n
 C
 $M-1$
 C
 X_i
 X_j
 Y
 YX_iX_j
 $N-1 \leq M \cdot (M-2)$
 $N \leq (M-1)^2$
 $= -1$
 $(i, j), i, j \in \{0, 1, 2, \dots, p-1\}, p^2$
 $0, 1, 2, \dots, p$
 $(i_1, j_1) (i_2, j_2)$
 $k \in \{0, 1, \dots, p-1\}$
 $j_1 - j_2 \equiv (i_1 - i_2)k \pmod{p}$
 p
 $i_1 = i_2$
 p
 $(i_1, j_1) (i_2, j_2)$
 $j_1 - j_2 \equiv (i_1 - i_2)k \equiv (i_1 - i_2)l \pmod{p}$
 $k \neq l, p (i_1 - i_2)(k-l) i_1 \neq i_2, k = l$
 $i_1 = i_2, j_1 - j_2 \equiv (i_1 - i_2)k = 0 \pmod{p}, j_1 = j_2$
 $(i_1, j_1) (i_2, j_2) p$
 $(i_1, j_1), (i_2, j_2) (i_3, j_3) (i_1, j_1)$
 $(i_2, j_2) (i_2, j_2) (i_3, j_3), k$
 $0 \leq k \leq p-1,$

$$j_1 - j_3 = (j_1 - j_2) + (j_2 - j_3) \equiv (i_1 - i_2)k + (i_2 - i_3)k = (i_1 - i_3)k \pmod{p},$$

$$k = p, \quad i_1 = i_2 = i_3.$$

$(i_1, j_1) \quad (i_3, j_3) \quad k,$

4. $N \geq 3$

$N \times N$

0.

1

1.

K

K

K

$S.$

$N \cdot S.$

N

S

,

A_i

$i - (i+1) -$

A_1

$A_1 + A_2,$

A_2

A_i

$1 \leq i \leq N.$

$A_1 + A_2 + \dots + A_{n-1},$

5. $N \times N \ (N \geq 2),$

\cdot $N-1$
 (\quad)
 (\quad) . N .
 $N=3,$
 \cdot
 N
 $N+1$ \cdot
 $A,$
 $A.$, A
 \cdot
 N \cdot
 (\quad) \cdot
 \cdot
 (\quad)
 \cdot
 A_1, A_2, \dots, A_{N+1}
 \cdot
 $K=2, \dots, N$
 $(\quad) A_1, A_2, \dots, A_K$ L_K
 \cdot
 $A_K, A_{K+1}, \dots, A_{N+1}$ R_K $K,$
 L_K R_K , $N+1$
 L_K R_K \cdot , L_K
 R_K K .
 R_2 ,
 $A_1 A_2$
 N \cdot R_2

L_N . L_2 R_N

·

L_2 , L_N ,

K , L_K , L_{K+1} .

R_{K+1} \overline{XY}

X e L_K , Y

R_{K+1} (, X Y

) . L_K , R_{K+1} \overline{XY}

$N+1$

() .

, .